3pa3ok 3a/1iKOBOI KOHTPOJIBHOI pO0OTH
3 HABYAJIbHOI IMCHMILIIHY «3arajbHa Teopis Apyroi iHo3eMHOI MOBHW»

Dopmanizoeanuit mecm 3a NPUHUUNOM MHOHCUHHO20 6ubopy (30 numans, 1 numannusa = 2 d6anu)

Tecm na muosxcunnuil suﬁip CK1A0AeEmMbCs 3 NUMAHb MAKO20 muny:

1.Find the wrong statements. Native words have the following characteristic features:
a) are frequent in everyday speech;

b) they can easily combine with other words;

c) they usually possess a number of meanings;

d) their structure is complex and often consists of several syllables;

e) stable word combinations — phraseological units include a considerable number of loan
words.

2.The word “archaism” is borrowed from:
a) French b) Latin ¢) Greek d) Scandinavian
3.The Ukrainian adjective “yepBoHomokuii” has:

a) a simple stem;

b) a derivative stem;

c) a compound stem;

d) a compound-derivative stem;

e) a composite stem.

4.The English word “stick-in-the-mud” has:
a) a derivative stem;

b) a compound stem;

c) a compound-derivative stem;

d) a composite stem.

5.0n the basis of the stem structure the adjective ‘maJsiecenbkmnii’ is:
a) allomorphic /augmentative/derivative;

b) isomorphic /derivative;

¢) allomorphic/diminutive/derivative;

d) isomorphic/diminutive/derivative.

6.No one could do the job more better.

a)tautology; b) repetition; ¢) asyndeton; d) polysyndeton;
7.He Te, 1100 BiH He 3HAB MOKJIMBOCTEH CBOI0 OLOIKETY...
a)litotes;

b) meiosis;

¢) periphrasis;

d) epithet;

8.«10Bro TATTUMETHCS MUTB)»

a)oxymoron;

b) zeugma;

c) simile;

d) periphrasis;

9.The night was creeping towards the travelers

a) zeugma;

b)personification;

¢) pun);

d) hyperbole;

10.«/lymaB, 10J151 3yCTPiHETHCH — CIITKAJOCH rope»
a) oxymoron;



b) antithesis;
¢) climax;
d) zeugma,;



